read;nvar=40;nobs=206;file=D:Ex5-2.txt$
skip
create;ageL=x27-x38$
create;if(ageL>17)late=1$
create;if(x25=2)male=1$
create;if(x26=1)married=1$
create;if(x23=1)brisk=1$
create;mo70=x1-70$
create;mo65=x2-65$
create;mo55=x3-55$
dstat;rhs=mo70,mo65,mo55$
reject;x1=-999$
reject;x2=-999$
reject;x3=-999$
reject;x27=-999$
reject;x38=-999$
reject;x25=-999$
reject;x37=2$

Sure;lhs=mo70,mo65,mo55
;eq1=one,x27,x32,late,brisk,x24
;eq2=one,male,x27,x32,late,brisk,x24
;eq3=one,x33,late,brisk,x24$

3sls;lhs=mo70,mo65,mo55
;eq1=one,mo65,x27,x32,late,brisk,x24
;eq2=one,mo70,mo55,male,x27,x32,late,brisk,x24
;eq3=one,mo65,x33,late,brisk,x24
;Inst= male,married,late,brisk,x4,x5,x24,x27,x28,x29,x31,x32,x34,x35,x37$
